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QUESTION 1

In 5G, what is the maximum number of RBs when the subscriber spacing is 30KHz and bandwidth is 100 MHs? ?SC 

A. 273 

B. 106 

C. 200 

D. 100 

Correct Answer: A 

 

QUESTION 2

With control and user plane separation (CUPS) on the core network, the user can be moved closer to users to reduce
transmission delay. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

In the following terminal moving speeds are supported for 5G? -MC 

A. 300 Km/h 

B. 500 Km/h 

C. 600 Km/h 

D. 400 km/h 

Correct Answer: ABD 

 

QUESTION 4

Which of the following are pain points relating to PC gaming experience? _MC 

A. High software price 

B. Piracy 

C. No anywhere anytime access 
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D. Low hardware investment 

Correct Answer: ABC 

 

QUESTION 5

Which of the following are points of electronic power telecommunication? 

A. public network GPRS with low rate and long delay unable to provision telecontrol, tele indication and telemetering,
slow fault locating 

B. high cost for monitoring service carried by operator 4G network 

C. low security and reliability of electric power services carried on public network 

D. incapable of collecting electric consumption information, costly manual meter reading . 

Correct Answer: ACD 
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